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(a)
(b)

(c)

(d)

(a)
(b)

le)

(d)

. Elephants
ating clearings in
'!‘:Wf-h of certain plant species and allowing

or the regeneration of others, which in turn
sustenance to other herbivo i
,hants o s
yagating the seeds when they defecate in other
as they travel. Elephant dung provides
purishment to plants and animals
pecding ground for
ey access water by digging holes which
1 er wildlife.

Which one of
reflects the most lo
that can be drawn fro

divisible b¥
possible ?

Passage - 3
are landscape architects

the forest, preventing

eat plants, fruits and seeds

and acts as a
insects. In times of drought,

gical and rational inference

m the passage ? '

The home range of elephants needs to
h biodiversity.

a vast area of ric
Elephants are the keystone species and
they benefit the biodiversity. '

Rich biodiversity canno
in the forests without the presence of

the following statements ben;f":'

benefits |

16. 4

prf q,r and s are distinct 3ingh- i
numbers, then what is the gre?d es
(p+glr+s)?

| WI (a)

k¢ 230
(b 225
. (o 224
- @ =
1% A number N is formed bY writing 9\; [‘r_l:
- _ 99 times. What is the ]':;-ll'lilin‘h-’r if N ¥
O ¥vided by 137
@ 1
by 9
€ 7
@ 1
18. Each digit of a édigit number 18 1. It 18
m of the

be

t be maintainéﬂ:' '

elephants.

Elephants &

with species per

as

x. How many

10

1 ;

12 P

Infinitely many B i

re capable of regenerati@" )

forests
requirement.
If7689&310=8,9$11$30=5, _
11e17@21= 13, what is the value of
23 4@ 15 ?
(a) 6
b) 8
e 13
d 15
i
Let x be a positive integer such that 7x + 968
val !

pes of X GG

" multiplied by itself. What is the s%
digits of the resulting number ?

(a) 64
\ (b) 80
B @ 8
. @ 108 -
What is the sum of all digits which appear in
all the integers from 10 to 100 ?
(a) 855
;. o 910
@ 91
ABCD is a square. One point on each of AB
~ and CD; and two distinct points on each of BC
' and DA are chosen. How many distinct
~ triangles can be drawn using any three points
. asve . ces out of these six points ?
e 16
~(b) 18
e 20
@ A

e )
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Directions for the following 3 (three) items :
).de_m following three passages and amu)er the

i

f:em B8 follow the passages. Your answers to these
‘emns

should be baseq on the passages only.
Passage - 1

The emissions humans put into the
atmosphere now wi| affect the climate in the
middle of the century and onwards, Technological
chgnge’, meanwhile, coulg make a i{ﬁture
transition away from fossil fuels chéap ar it
might not, leaving the world with a terrible
choice between sharply reducing emissiuna. at
huge cost or suffering through the effects of
unabated warming. Businesses that do not hedge
against the threat of uncertain outcomes fail. The
world cannot afford such recklessness on climate

change.

Environmental problems
problems. Substantial changes
reduce environmental or heall
this idea appears almost im
With environmental problem'
can be perceived as having a neg
therefore lead to inertia. With |
other hand, individual choices ¢:
difference between life and a

problems.

(¢c) Health can be ’
environmental
‘unattended.

(d) Loss of traditional

influence of western va

21. Which one of the following statements best
reflects the crucial message conveyed by the
author of the passage ?

(a) " Businesses that cause emissions may
need to close down or pay for pollution in
future.

(b) The only solution is technological
development related to the issues of
climate change.

(¢) Waiting to deal with carbon emissions

: until technology improves is not a wise

strategy. i
: nological change i

(d) Since future tech YA
uncertain, new industrie
based on renewable energy sources.

(13
XDTG-S-DNK

unh_aalth,y. ways of living.

=89
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Passage - 3 24,

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-communicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
i< about limited access to nutritious food or a lack
of affordability, leading to monotonous dmts that
do not provide the da.lly nut:nentaﬁrthem to\

25.

the centre of our policy

(¢) Nutritional status of
improved by creati
genetically modified crops.

(d) Using modern food

A technologies, we must forf
with required nutrient ele
XDTG-S-DNK :1 (15-8B)
i “{"-l.‘l
,ﬂ_l{-} !
2
h

)

Three of the five positive integ T8
are even and two of them |

necessarily in order). Consider
. p+q+r—s—t isdefinit
2. 2p+q+2r—25+tisd'

Which of the above statement

(a) 1only

(b)  2only

(¢) Both1and2
(d) Neither 1 nor 2

Consider the following in
number p and composite nuz i
I & : ‘f:',‘.;.:"w"'i
p—f _ "ﬂc ﬁﬁ._ x
2. 2p+ccanbeoddl§*( ‘%’ 2
3. 'pccan be odd.

can be even.

Which of the statements given a
correct ? '

1 and 2 only )

(a)

(b) 2and3only ] :
1and S only [ ;

(d 1,2and3 )

A 3-digit number ABC, on multip! - _'
D gives 37DD where A, B,
different non-zero digits. What
A+B+C? iy

(a)
(b)
(e)
(d)
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27. For any choices of values of X, Y and Z, the
6-digit number of the form XYZXYZ i:%
divisible by :

(a) 7and 11 only
(b) 11 and 13 only
(¢) 7and 13 only
(d 7,11and13

28. 125 identical cubes are arranged in the form of
e cubical block. How many cubes are
surrounded by other cubes from each side ?

. 7
i 2
{@) 21
@ 18
29, m R y distinct 8-digit numbers can be

rearranging the digits of the
344 such that odd digits occupy
and even digits occupy even

A, B, C working independently can do a piece
~ of work in 8, 16 and 12 days respectively. A
,‘,,g&one works on Monday, B alone works on
- Tuesday, C alone works on Wednesday; A

g alone, again works on Thursday and so on.
~ Consider the following statements :
¥ 1. The work will be finished on Thursday.

9 The work will be finished in 10 days.

Which of the above statements is/are correct ?

(a) 1lonly

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2

XDTG-S-DNK

i

Directions for the following 3 (th _
s | Read the following three passage
items that follow the passages. Your 1
items should be based on the passagé

Passage -1

We often hear
different States in India over ri
20 major river systems, |1
water-stressed; 75% of the poph
water-stressed regions, a third of
water-scarce areas. Climate cha
of rising population and the need
to keep pace, and increased rate ORSE
and industrialization will exacefbal
stress. According to the Constituti
water is a State subject and not i
Union, except for regulation of inter-2
Key to ensuring balance between
demands of various stakeholders is a
approach to allocate water among st cons
regions and States. Allocating fair sh
to them requires assessments based '
criteria, such as specificities of the river
size of dependent population, existing :
and demand, efficiency of use, projecte
use, etc. while ensuring the environmental ne
of the river and aquifers. g

about

31. Which one of the following state T '

reflects the most rational, practies
immediate action required to ens of
equitable allocation of water to
stakeholders ? A
(a) A national, pragmatic, laggf,-

framework for water alloe

be made.

(b)  All river systems of the . I
be linked and huge aquif ;-_
(¢) Water channels betwe b
water surplus and regi
deficit should be created,

(d) To mitigate water erisis, wa
of sectors such as '

| 1'11"‘“* L el

L ,‘ AT AT (e
R DR T
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Passage - 2

More than half of Indian women and almost

a quarter of Indian men of working age suffer
from anaemia. According to

studies, they are
ywhere from 5 — 15% less productive than they

could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
mtwe ability, malnourished Indian children
perform two or three times worse than their
MWIy nourished peers. For an economy that
will be more dependent on highly skilled
m.em this poses a significant challenge And it
is nne that really should be addressed given
_I&a demographic outlook.

h one of the following statements best
cts what is implied by the passage ?

Education system must be strengthened

" in rural areas.

effective

Large scale and

implementation of skill development

%

e programme is the need of the hour.

-.'m--{ "

&

_-;-z;f-' @ For economic development, health and
G ‘::-'.‘:f nutrition of only skilled workers needs

i I'special attention.

(d) For rapid economic growth as envisaged
by us, attention should be paid to health
and nutrition of the people.

XDTG-S-DNK

33. Which one of the following statem

(19-B)

Passage - 3 .
In India, a majority of
marginal and small, less €€
possess low adaptive capabilities
change, perhaps because of :
constraints. So, one l‘,i
autonomous adaptation to ¢
Even if it was possible, it
sufficient to offset losses |
change. To deal with this, &
climate change is paramount,’
fast mitigation response. Anothe
to have a
adaptation,
government to :
recommendations. Perception is a
pre-requisite  for adaptation.
farmers are adapting agricult
to climate change depends on
perceive it or not. However, this i
enough for adaptation. It is import
farmer perceives the risks asso it
climate change. f

planned or
which would
come up

reflects the most logzcal and ratia
conveyed by the author of the passa
(a) Adaptation ?ﬁa climate che
mitigation response are '-’
responsibilities of the govern
(b) Climate change causes
government policies regard
patterns in the country,

(c) Risk perceptions of :

(d) Since mitigation is
governments should ¢
policies for quick re
change.
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34. Raj has ten pairs of red, nine pairs of white
and eight pairs of black shoes in a box. If'-:he
randomly picks shoes one by one twitw
replacement) from the box to get a red paﬁﬂf
shoes to wear, what is the maximum numbe
of attempts he has to make ?
(a) 27

(b) 36

() 44

(d) 45

 scoring shots ?

e are four letters and four envelopes and
one letter is to be put in exactly one
slope with the correct address. If the

are randomly inserted into the

. '___‘ envelopes, then consider the following
~ statements : *
1. It is possible that exactly one letter goes
el into an incorrect envelope.
*2 There are only six ways in which only
two letters can go into the correct
$ 4 TRy envelopes.
3

s Whlch of the statements grven above is/are

~ correct ?

@ 1 only

(b Z2only _
Vel Both1end 2 i i Wil
(@ Neither 1 nor 2 g

37.

% (a)

i@
@

40.

B such thatt &, B, (& NI

What is the remainder whe
85 x 87 x89x 91 x 95 x¢

(a) 0
(by 1
(0 2
d 4

What is the unit digit in

(57242)XPE3<1 9
(a) 2
(b) 4
() 6
d 8

If ABC and DEF are both 3%

distinet ~ digits |

ABC + DEF = 1111, ﬂl&l th.t

A+B+CﬁB+E+.liL?. :
. v

non-zero

(b)

,"n s aapmmm
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.
Passage - 1 5
B
In India, while the unemployment rate is a'ﬁ

frequently used measure of poor performance of I1‘|=
the economy, under conditions of rising school ll
and college enrolment, it paints an inaccurate |
picture. The reported unemployment rate is
dominated by the experience of younger Indians

who face higher employment challenges and l}

exhibit greater willingness to wait for the right
job than their older peers. The unemployment
challenge is greater for people with secondary or
higher education, and rising education levels
inflate unemployment challenges.

41. Which one of the following statements most
likely reflects as to what the author of the
passage intends to say ?

(a) Enrolment in schools and colleges is
high but there is no quality education.

(b) Unemployment must be seen as a
function of rising education
aspirations of young Indians.

and

(¢) There are no labour-intensive industries
to accommodate the huge number of
unemployed people.

(d) The education system should be properly
designed so as to enable the educated
people to be self-employed.

XDTG-S-DNK

the analysis of scientific me
coordination of
results; without this, any s¢
superficial. Government sufl§
like
Philosophy bears to
relationship which statesmanship
politics
~ knowledge
aimless and individual seeking.
pursuit of knowledge becomes
when divorced from the actual ne
~ and life, so the pursuit of politigs.
destructive bedlam when dive
science and philosophy.” '

42, Which one of the following st

Passage - 2

“Science by itself is not |
must be a force and disciphni
sciences to coordinate them @ J{
goal. It is not possible to run &
when the goal itself has not= s
placed. What science needs 15 PESS %

scientific

science, for lack of' el

sclience EETNE Y %4

movement guide
and perspective,

reflects the most rational, logical
message conveyed by the passage

(a) Modern statesmen need
trained ;)

(b) It is not desiral
managed by em
grounded in
wisdom. 3

(c)

(d)
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Passage - 3
“The last end of the state is not to dominate
men, nor to restrain them by fear; rather it is so
to free each man from fear that he may live and
act with full security and without injury to
himself or his neighbour. The end of the state, |
repeat, is not to make rational beings into brute
beasts and machines. It is to enable their bodies
and their minds to function safely. It is to lead i
men to live by, and to exercise, a free reason; that |
they may not waste their strength in hatred,
anger dnd guile, nor act unfairly toward one
another.”

46.

43. Based on the above passage, which one of the | |
following terms best expresses the ultimate | g
goal of the state ?

(a) Personal safety
(b)  Health of body and mind
(¢) Communal harmony
@ Liberty
44. What is the remainder if 2% is divided by
67
(a 0
(b 1
(¢ 2
@ 4

45. Consider the sequence
ABC__ ABC_DABBCD_ABCD
‘that follows a certain pattern.

Which one of the following completes the

sequence ?

(a) DACB

(b) CDAB

(¢ DCCA

(d) DDCA

(25-B)

XDTG-S-DNK

AB and CD are 2-digit numbe! "
AB with CD results in a 3-dig
Adding DEF to another 1
results in 975. Further A, B, C, |
are distinet digits. If E = 0, F =
A+B+C equal to? 3

(a) @ 5

b 7
(c) 8 ; ilg
@ 9

'
1,
" Consider tﬁﬁ;ﬂnwmg stater

of five candidates P, Q, R,
statements are true and on
false.

True StdtemLM : One of P anc
for the

False Statement : At leal
W :

.'!

True Stateiiﬁem : At

Which of the follg
drawn ?
1. At.lbasi’four
2. Swas select
Select the co o
below :
(a)
(b)
(e)
(d .
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48. I_t;:tP Q, R, S and T be five statementg —

',JI-_. If P is true, then both Q and S are trye
If R and S are true, then T is false. ‘
hich of the following can be concludeq 9

If T is true, then at least one of p
must be false.

 IfQis true, then P is true.
ct the correct answer using the code given

and R

f dimensions 7 cm x 5 ¢cm x 3 em is

green and blue colour on each
psite faces of dimensions
m, 5 cm x 3 cm, 7 ¢cm X 3 em
Then the cuboid is cut and
p various cubes each of side
Which of the following
e correct ?

actly 15 small cubes with no
y face.

k exactly 6 small cubes with
two faces, one painted with blue

other with green.

+ answer using the code given

word

the

are arranged

of

MPREHENSIBILITIES"
y in reverse order. How many

of the letter/letters Wwill remain
aged ?
- None -

Directions for the following 4 (fou

Read the following four passages
items that follow the passages. Your . &

ot i
items should be based on the passa - ‘?Jitﬁ e

"y
Passage - 1
The paradox of choice is ill

story of Buridan’s ass. Jean Buri
century philo [

pher, wrote about |
the inability to ehoose due to numero

and uncertainties. In the story, a donke

between two e appealing stack
Unable to decidgs-:m to eat, it sta
Changes in techm and mnovat1
smart phones aﬁ tablets only e
glut of choices. Constant conne
overconsumption ef real-time data
media can leave little room for |
rest, making decisions more
about choices. Many people
with attractive life choices, yet.
unhappy and anxious.

Which one of the foll
reflects the most logi
the above passage ?
(a) Modern :
structure ang
Modern lif
endless di

51.

(b)

We are
others as

(c)

In 0 .. ]
not b

(d)

can

Two
Three
(27

_B)
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Passage - 2

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property.
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,

and huw (and even if) one can make the
transition between them if necessary.

Passage - 3

Pharmaceutical patents grant protection -
the patentee for the duration of the ow AR
The patentees enjoy the liberty to determine fhe
prices of medicines, which.is ume:.lin:n‘bad to the
period of monopoly, but could be unaﬂordable to
the public. Such patent protection to the
patentees is believed to benefit the public over
the longer term innovat ions and
research and ‘development (R&D), although it
comes at a cost, in the nature of higher price
the patented medicine. The patent reg
price protection — through a legally 1
high price for the medicine during the et
the patent — provide the paten
legitimate mechanism to get returns o

through

incurred in innovation and research.

52. R ling the financialization of household 53. Based on the above passage, 1
savings, which of the following statements aasumptxons have been made : s
o 1. Patent i i ate
best reflect the solutions that are implied by T fection SVAR S
- ?. a huge burden on public’s
e passage ? power in accessing patented m' S
1. A flexible environment is needed to 2. Dependence on gther co for
develop solutiong, pharmaceutical products is
- burden for developi ng '
2. Households Mmuﬁsedaolutions 8 plEia = and poor g
. | ' - Providing medicines to the '
3. Innovations in financia] technology are B Prices is a key goal -
required. , public heﬂlﬂ}:._'.!)olicy dal DR
pllid : countries, ' i N
correct answer using the e oi i ' e
1 e given 4, : i Son
below : p Governments need to find g ol
balance betweep, the richta o Priate
(@) land2 only and the “q“il'ﬁlmnta x fgt ."' b “ ﬂﬂtentees
4 2 Which of the Me i © pe &n&a.
and 3 only (8 land2 e .I‘_"llid?
(¢) 1 and 3 only (® landq \
d) 1,2and3 (¢) 3 and 4 :
(d) 2 and
XDTG-S-DNK £y
(29-B)
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Passage - 4

India should ensure the growt of the digital
economy while keeping personal data of Citizeng
secure and protected. No one will innovate iy, 4
surveillance-oriented environment or in g place
where an individual's personal information ;4
compromised. The ultimate contro] of data g
reside with the individuals who generate it; they
should be enabled to use, restrict or monetise it
as they wish. Therefore, data protection lawsg
should enable the right kind of innovation — o,
that is user-centric and privacy protecting.

54.

Based on thnabove passage, the following
assumptions hauhen made :

1. Protection of privacy is not just a right,
but it has value t};the economy.

2. - There is a ﬁmdhm’ﬁntal link between
' privacy and mnovaht’)i

Which of the above asaumptlons is/are valid ?

(a) 1lonly

(b) 2only

(c) Both1and2

(d) Neither 1 nor 2

In an examination, the maximum marks for
each of the four papers namely P, Q, R and S
are 100. Marks scored by the students are in
integers. A student can score 99% in n
different ways. What is the value of n ?

(a) 16
(b) 17
() 23
(d) 35
_ 1
 XDTG-S-DNK £

86. A flag has to be designed wiﬁgm--ygrizontal
Stripes using some or all of the colours red,
green and yellow. What is 0 mber of

different ways in which t.hul“; An

that ng twe adjacent s i the same
colour ? L Wblw "
(@ 12 N ﬁ'
(b) 18 Ll
© 248 -él

(d 36 "

A rectangular floor measures 4
and 22 m jn breadth. Tiles of
60 cm have to be laid such that
overlap. A tile can be placed in i
so long as 1ts édges are parallel
the floor. What is the mqnm ;
tiles that can be accommoW [
@ 6 il
(b) @
()

(d)

57.

58.
one of whom
Neither P nor
Task-2 must '
how many ways

6

(a)

(b)

-B)
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. A+B means A is neither smaller nor

. A -Bmeans Aisnot greater than B.

.‘ W 2 gm, 5 gm, 10 gm, 25 gm, 50 gm
"-'-.; . Consider the following statements -
To buy 78 gm of coins one must buy st

least 7 coins.

% To weigh 78 gm using these coins one Caé}
- useless than 7 coins.
ich of the statements given above is/are| (u

?
only
2only
~ Both 1and 2
- Neither 1 nor 2

ider the following :

~ equal to B.

. A x B means A is not smaller than B.
. A+ B means A is neither greater nor

Directions for the following 3
Read the following three pass

items that follow the passagél.- "Y
items should Mbased on the p

equal to B.
| A + B means A is neither smaller nor| e,
greater than B. g
Jusion-1: Q= T
lusion-2 S+Q t
hich one of the following is correct in respec
the above St.atement and the Concluslonb
h
Only Conclusion-l follows from the
Statement ¥
Only Conclusion—2 follows from e
tement | A
Stath Conclusion-l and Conclusion
Bo .
ment
follow from the State P X
Neither Conclusion-l nor
follows from the Stawment
(33-8)
DNK
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Passage - 2

’Wh,}e awareness on use/misyse and
of antibiotics is common knowledge as
impact of dosing poultry with

ics, the environmental

impact of

otics-manufacturing companies not

their

waste has scarcely been

ed at any length or seriousness thus

the pharma manufacturmg

T
nding

is well known.

one of the following statements best

the most logical and practical message
.d by the passage ¢
It is necessary to put. pmper effluent
| ¥ 'ih;atment protocols in place.

mote

:gq:mng le.
ironin entﬂl awarenm peop

t
g reswtant w canno

m”

pAd Ofdru
] rent in

: 1 -4 i%mpanle&
na-manufacturing
ﬂ'&!’ﬂl as,
d be set up in. Temete ¥ 8

e EL A

_gchool after having acquired

Benefits of good qu
accrue only when students ©

" Like one learns to

one picks up a
the basic found
knowledge econ T
one of the severe

une‘ducated wa
gtmng learning
there can be no i

or skill develop

63.

(c)

(d)

 rom crowded towns #@ Pt

(35-8)
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n
‘ | r how man
includ i ' g
. .mg child-1) will the ring be in
§ of child-1 agaip 7

k. What is the middle term of the sequence

N/ »z’ Yt Y’ Ys Xﬂ X! X, xr W’ Wa wy W-: W: suniey A?

. Question : Is p greater thanq?
 Statement-1: p*dis greater than zero.

ment-2 : p? is greater than g2
wing is correct in respect
the Statements ?

hich one of the follo
f the above Question and
| The Question ¢an be answered by using
m of the gtatements alone, but cannot
.  be answered using the other Statement

swered by using

alone
answmd by using
ts together, but
i either

be Mered even
Statements togethe”

(37-—-3)

(.mermn 8 fp + d
(p-q+1h
integers

Statement-1 (p-q) isp ‘“
Statement-2 (p-r)is »
Which one of the following ¥ -
of the above Question and th

=
The Question can be
one of the Statements al€
be answered using the othe

(a)

g _1..'..-

alonn,-,

(b)  The Question can be answered Yy using
either Statement alone.

(¢) The Question can be answere psing
both the Statements tog VU
cannot be @ ered usi 1€
Statement alone.

(d) The Question eannot be an

by using both the Statement

A

In a party, 76 persons took tes
took coffee and 15 persons took
coffee. No one taking milk takel

person takes at least one dnﬁ “

Question : How many persons at

party ? Pl
Statement-1: hok mil!
Statement-2 :

Which one of the foll 0
of the above Question

(a)

(b)

(c)

(d)
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- Statement-] .

.c'mmi(.ler a 3-digit number.
.questwn * What is the number ?

The sum of the digit, th

Number g equal to the Prodyer

of the digits, ctli
Statement-2 : TL}:; n[l‘lrﬁber is divisible by the
e ‘ oT'the digits of the )
Which one of the g, nunger.

- il = _“0“"5“53 is correct in reg
of-h_? InPove Question and the Stgten]entz .s.ue N
(a) "l'_@e Question cqp, b
- one of the Stateme
be answered using

alone.

€ answered by using
nts alone, but cannot
the other Statement

(b) The Question cap, p, answered by using
either Statement alone,

(e) The Question cap be answered by using |

- both the Statements together, but
cannot be answered using either
Sm?@nt alone.

(d) The Question cannot be answered even

by usin  both the Statements together.

For five children with ages a <b <c <d < e;
any two successive ages differ by 2 years.

Question : What is the age of the youngest

child ?
Statement-1 : The age of the eldest is 3 times
£ the youngest.
k. Statement-2 : The average age of the children
" is 8 years.

Which one of the following is correct in resg)ect
~ of the above Question and the Statements ?
(@) The Question can be answered by using
R one of the Statements alone, but cannot
be answered using the other Statement
alone. ;
The Question can be answered by using
either Statement alone. |
The Question can be answered by using
both the Statements tog.ether, . but
cannot be answered using either

Statement alone.

Passage -

Scientists gtudied the
transition period from winter
Season. They found that warmer winters with

»
less snow resulted in a longer lag time between
¥

Spring events and a more prﬂtram-'
window. This change in the spring tim
ecological, social and economic conses

for agriculture, fisheries and tourism. .
melts earlier, the birds don’t retur:

delay, or lengthening in spri

events.

71. With reference to the above ;' p

following assumptions have 5

The Question cannot be answered even

by using both the Statements together.

(39 -

1. Global warming lﬂﬁauslng spring .
early and for longer durations. . b

2. Early spring onger period é ..
is not good for j ; j

Which of the i

correct ?

(a)

(b)

(c)

(d) Neither 1nor2

B)
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Passage - 2

A global analysis of nitrogen use efficiency —
'ameasure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollition —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0-4, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
‘the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,

which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This results in
significant emissions of nitrous oxide, a potent
greenhouse and ozone depleting gas, and other
forms of  nitrogen pollution, including
eutrophication of lakes and nvers and
contamination of river water. KRS Y
72. Which one of the following atatements best
reflects the most logical, rational and crucial

T

message implied by the passage? X
An enhanced efficiency of use af nitrogen

(a)
is imperative for both food product:c_m :
and environment. |
(b) Production of synthetic  nitrogen |

fertilizers cannot be stopped as it will
adversely affect global food security.
Alternatives to crops that requ&e excess

Pas! ' by
. lifestyles, @m

Along with sustal : in
Justice is regarded as cant' prmﬂh"e
environmental parlance.' - pnnc'lp tﬂ' the
bearings on political and ecomom!t e tﬂ or
nation. So far, in our cllma " eluded
compacts, both the pnnci judicial

consensus among nations. Justice
sense, is well defined. HOWeVBff
climate change, it hasl : ent,ﬁc
socio-political motatlo
in the next few years |
technologies anai'agmatl
iate change. Justice

is not confined te “ ions relating to m
but includes l‘.l:beI

.the victims of

] }_.::i_
73.- ‘Which one of the following stat
; reflects the nﬁdat logical, rational &
message conv@nd by the me'ﬁ

Climate yust:@ shek
detail in the ru.l F

(a)

compacts/ag

W
Environmenta '

distributed a

(b)

(e)

(c)
of nitrogen should be ldeﬁiﬁed and victims/clix
cultivated.
(d) Conventional agriculture using @ Climat.e“, cor
synthetic fertilizers should be replaced mostiy ? developed countries and
with agroforestry, agroecosystems and ber o *ﬂ 9‘ burden should
~ organic farming. : 3
(41-8) ol
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P bE‘COm \ L
e .
‘ompounded hajy. 8 Q in\l year when |77 What is the sum o numbers less
fi Yearly with R% annual th : 1, 2, 3 and 4,
Ol Interest, | al rate an 2000 formed b |

in 1 year when neipal P becomes Q| ' Where none of the ¢ s ?4 ! ”
. Compoundeq annually with S, (a) 7998 . R
int T A
foll erest, then which one of the i w o
OWing is correct 9 (b) 8028 JoR Aé}'
(a)- R=8§S \ % (¢) 8878 ] .
L @ 92 | "
N | ) ﬂ! 9238 :
l?& What is :1
(e R<S }?;1 10 consecu
i circle take T
(d Rx<S '

. (@) 3
(b)

How many natural numbers are there whmh
give a remainder of 31 when 1186 is dlwded

by these mw numbers ?

(a) 6 !

o 7 4

() 8 f . :
d 9 i i

76. Let pp, qq and rr be 2-digit numbers .-_ﬁhere
p<q<r If pp + qq + rr = tt0, wheﬁ&'%t()isg
3-digit number ending with zero, consider the
following statements : _?

1. The number of possible values of prigs
2. The number of possible values of q is 6.
Which of the above st.a.ternent.s iso’arel\:tvsclarr'ect ?
(a) 1only |

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2 | e

XDTG-S-DNK \ (43-B)
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